RERLFEERM(BAR-2FX-FHR)

Al a2
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#NO | NEES| HEETE) | & | chEm COYBRRET SERI PREfFR xTRANAR
FiBih tERH | EAEFIET | BEE & = REE  |RipuER TSR RTrEE
1 9301 |#/KLET452TH [124-3 1,890.81| 1,027.99 721.25| —&B EEITEE
2 9301 |#/KLET452TH [52-7 329.56 172.88 156.68| &7
3 9301 |#/KLET453TH (94-7 3,542.35| 2,996.11 000 —&B EEITEE
4 9301 |#/KLETISEITA |7-4[FH 1,812.64| 1013.76 798.88| &R A EEITEE
5 9301 |#/KLEr254TH|7-5 1,277.76 789.26 48850 £}
6 9301 |#/KLETISATR [8-5(FH 235182 1952.92 39890 £
7 5810 |(%/KLET354TH (281-12(FhH 520.14 183.44 000 —%B HRICEE
8 5810 |%/KLET4%4TH |143-18 1,391.16 805.93 000 —%B EEITEE
9 5826 |FFM@I7TEIL |802-17 1,314.78 72.84 000 —&B
10 12306 |JLER3%5T B 635-78 714.23 714.23 0.00[ #£=&B A 1[5 B 5540
11 5589 |/KEET1TH 78-27-28 256.00 256.00 000[ £IB
12 5649 |EE5%15TH  |910-10 8,347.66 0.00 22319 —B
13 5687 |f&f¥256TH 115-56,-59 291.89 291.89 0.00| 488
14 1176 |BFI1L11TH [2-2 1,125.05 133.82 000 —%B BAEELEE
15 5755 |[EF5&11TH |1-15 1,094.88 137.20 0.00| —&B BT
16 7434 |E%5%2TH 130-344 4,277.32 760.58 0.00[ —%&B B %ggt;?ﬁ Y
17 5779 |TERI1EL1ITH 90-16 17,659.72 77.78 86.64| —&f
B 48,197.77| 11,386.63| 2,874.04| 14,260.67

BEE A=A . B=EHB -EHE

CER=FITGL
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2[a1§
#NO | NEES| HEETE) | & | chEm COYBRRET SERI PREfFR T IRANAR
TiEMh | (BN | DR | @K % & R |RiguER| RIS E|ETREE
1 9301 |%H/KLHET452THE |124-3 1,890.81| 1,027.99 72125 —%B HEHITERE
2 9301 (%K LET4%2TH [52-7 329.56 172.88 156.68| &7
3 9301 |%/KLHET453THE |94-7 3,542.35| 2,996.11 000 —%&B WEHITER
4 9301 |H/KLEI3EITH |7-41FH 1,812.64| 1,013.76 798.88| &b WEHITER
5 9301 |#/KLEr254TH|7-5 1,277.76 789.26 48850 £}
6 9301 |#/KLETISATR [8-5(FH 2,351.82| 195292 39890 £
7 5810 |(%/KLET354TH (281-12(FhH 520.14 183.44 000 —%B HlIEE
8 5810 |%/KLET4%4TH |143-18 1,391.16 805.93 000 —%B HERITEER
9 5826 |FFM@I7TEIL |802-17 1,314.78 72.84 000 —%&B
10 5589 |/KEET1TH 78-27-28 256.00 256.00 000[ £IB
11 5649 |FEE5%15TH  |910-10 8,347.66 0.00 22319 —IB
12 5687 |f&f¥256TH 115-56,-59 291.89 291.89 000 =£&B
13 176 [2FIFNITH [2-2 1,125.05 133.82 000 —%B BAEELEE
14 5755 |[EF5&11TH |1-15 1,094.88 137.20 0.00| —&B BT
16 7434 |E%5%2TH 130-344 4,277.32 760.58 0.00[ —%&B B %ggt;?ﬁ Y
17 5779 |FENELITH 90-16 17,659.72 71.78 86.64| —IB
5 4748354| 1067240 287404 13546.44
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